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INSTRUCTIONS

1. Please correctly fill your Roll Number in O.M.R. Sheet.
Candidate will himse!f be responsible tor filling wrong Roll No.

2. Al the stant of the examination, before attempting the
question paper kindly check your test booklet and OMR.
Answer Sheet and ensure that:

s The senal numbers of test booklet and O.M.R answer sheet
are same

e Al pages of test booklet and O.M.R. answer sheet are
property printed. All guestions from S. No. 1 tolast S. No. 100
are printed and pages from S No. 1tolast S. No. 16 are there
in the question bookiet .

In case of any discrepancy/ defect the candidate should

immediately report the matter to the invigitator for replacement of

test bookist 2nd O M R answer sheet. No claim / objection in this

regard will be entertamed afier five minutes of start of examination.

Candidate will be Lable for it.

3. Answer all guestons.

4. Al guestons carry equal marks.

5. Oniy one answer s to be given for each question.

6. I more than one answers are marked, it would be treated as

wrong answer

7. There is no Negative marking. )

8. Each guestion has four altemative responses marked serially
as (A). (B), (C). (D). Candicate has to darken only one circle
or bubbie indicating the correct answer on the Answer Sheet
using BLUE BALL POINT PEN. .

8. Use cf Mobie Phone Bluetooth Devices or any other
electronic gadget in the examination hall is strictly prohibited.
if any such prohibited material is found with any candidate,
strict action will be taken by the Board against him/her as per
rule.

10. If there is any

tactual nature i
the English versicn will be treated as

sort of ambiguity/mistake either of printing or
n Hindi and English version of the question,
standard.

Warning : It a candidate is found copying of if any unauthorized
material is found in his/er possession, FLR. would be lodged
against him her in the Police Station and he’she would ba liable to
be prosecuted under Section 3 of the State Prevention of Unfair
Means Act, 1962 and Board Regulations. Board may also debar

himher permanently from 21l future examinations of the Board.
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“Swasth Dhara Khet Hara” is the t: agline of -
(A) Paramparagat Krishi Vikas Y 0j

(B) Pradhan Mantri Krishi Sinchai Yojana
(€) Sub-Mission on Agro-forestry
(D) Soil Health Card Scheme

ana

SNSRI BINEN

—_—

UG N Rerg q\urn P

(B) wurw=al oy ﬁ?rm RSB

© 3 m—\mﬁ W I 3

(D) 31 Wiy BIE AT BT

Match List-1 with List-1l' and choose the
correctanswer using the code given below -
i. Amarakosha

il. Kavya Mimansa
iil. Brihatkatha

X N

iv. Svapnavasavadattam N
List-H (Writer)

a. Bhas

b. Gunadhya
c. Amarasimha
d. Rajashekhara
Code-
(A) i-(c), ii-(d), iii-(b), iv-(a)
(B) i-(d), ii-(a), iii-(c). iv-(b)
(©) i-(d). ii-(a), iii-(b), iv-(c)
(D) i-(a), ii-(b), iii-(c), iv-(d)
-1 o -1 g AR T | @
9 Ry U I &1 SR R FE SR B
a9 BT —

-1 (TE9)
i IReE
ii. SrE@aEEr
iii. ggeHT
iv. a4

—I1

a. 99
b. el
e FERSE
d. IHIER
R—
AR i-(c), ii-(d), fii-(b), iv-(a)
(B) i-(d), ii-(a). iii-(c), iv-(b)
(©) i-(d), ii-(a). iii-(b).iv-(c)
(D) i-(a), ii-(b), iii-(c). v-(d)

3. Which Indian site is inclyded in UNESCO

world heritage listin July, 20217 .

(A) Corbett National (B) Meenakshi
park Femple

2k ReIapEs 'lemple (D) Qutub Minar

e BT P W 2 qarg, 2021 3 DT

2 fea RN @l F-wnfive fpar w27

() Fidfe IS T (B) demeh R

() . FfaR (D) Fga AR

Which one of the following (Wildlife

Sanctuary - District/Districts) is not

correctly matched?

(A) Bassi - Chittorgarh

(B) Todgarh Raoli - Pali, Ajmer and
Rajsamand

(C) Phulwari Ki Nal - Udaipur

(D) Band Baretha - Alwar

fFfeRad | wFwr (ol spERTT —
e/ Rorel) w1 gifera e 27

(A) =Y — RriteTe

(B) TfeTg RTaeH — WWWW
(C) Ty &Y el — SEAYR

" (D) g TR — TR
‘Which of the followmg pairs of major cattle

fairs and their related sites in Rajasthan is

“hot correctly matched? v .
(A) Shri  Chandrabhaga cattle fair -

Jhalrapatan, Jhalawar .
(B) Shri Mallinath cattle fair - Tilwara,
Barmer :

(©) Shri Gogamedi cattle fair -Nohar,

Hanumangarh
(D) Shri Baldev cattle fair - Karauli

SrehfrRae <romer @ W TY—ell 9 SR
W@:ﬁwﬁﬁﬁaﬁ?{wgmwﬁﬁﬁ?
(A) 5t TgqreT Ty HeT — SHTERTIIEH, ST
(B) 51 woefrer Wy el — Rrerare, AR

(©). 5 Ty oy Hel — AR, TS

(D)%ﬁméaqgﬁar LaE
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6.

“(A) Jai Singh Neeraj

As per the State Budget Speech 2021-22,
Rajasthan Institute of Advanced Learning
will be established as a Deemed University
in -

(A) Kota (B) Jaipur

(C) Ajmer (D) Jodhpur

NIST 99IC /YT 2021:22 7, é“n:c: fasaﬁam
B By ¥ WQIF{ TSaRS
AT i FE < @ sﬁmm P E?
(A) FreT By SR

(C) 3T (D) §EgR

Who was the British Political Agent in the
Bharatpur state at the time of revolt of
18577

(A) Morrison (B) Shawers

(C) Burton (D) Mason

1857 3 wifa & w7 wgr_gg Rarra 4 fafewr
Wf%r%zm To=e B o

(A) AR v (B) e

(C) a7 U F5

The ‘Damore’ tribe is mostly found at -
(A) Pratapgarh (B) Kota and Baran
(C) Bhilwara (D) Dungarpur and

Banswara
SER. S SRFaR ol oy & —
(A) e “(B) T ok aRf
(C) HrerareT | - (D) FRYR iR FivareT
H

Who wrote a.book entitled ‘Rajput Painting’

in1916 A.D.?

(B) Vachaspati
Gairola’

(C) Ananda (D) Raikrishan Das
Coomaraswamy

W&%rrs‘ﬁéas%\wmg ¥ fa

ESSEE

(R) SR =vwt (B) arergfy IRYelr

- L) I gARwar (D) xrpwiera

What is ‘Pal’? g
(A) Bhils’ settlement !
(B) Meenas’ settlement

(C) Farming done by tribes

(D) Sahariyas’ settlement

g fe wed /7

(A) A&t Y T

(B) Homafi &) ax<hy

(©) Snfet g1 & oY areh e
(D) weRarit & gt

The Institution which was not the partofthe 10.
group that developed 5Gi technology is -
(A) IIT - Hyderabad
(B) IIT- Madras
(€) IIT - Bombay
(D) Centre  of Excellence in  Wireless
Technology (CEWIT) A
TR Sl 561 5% 1 Rl o a1
IR B v+ o —
(A) 3¢ 3¢ &1~ avmare
B) FEIE A~ T 1
©) IR IE A~ g
(D) Hex 3% yaiei 3+ AT SIS -
(CEwiT) = °
“Ratwai” folk dance is related to -
(A) Mewar Region  (B) Mewat Region
(C) Hadoti Region. (D) Malwa Reglon
A W T e & — _ -
(A) ﬁ?ﬂg g (B) FaTd &=
©) gt &1 & (D) HreTaT &9 |9
Which one of the following
(Breed - Livestock) is not correctly
matched? ’ o
(A) Lohi - Buffalo (B) Kankrej - Cattle
(C) Barbari - Goat (D) Chanothar -
Sheep
 PrefeRea # < e (e - o) v | 1S
gifera &t &7
(A) <Y — - (B) BI¥T — g
L
©) oxa@ — g8 (D) FRR — ¥
“Krishak Kalya'n Kosh” has been constituted
On......in Rajasthan for- ‘ease of doing -
farming’ for the farmers. :
(A) 26th January, 2019
(B) 16th August, 2017
(C) 16t December, 2019 14,
(D) 16t August, 2018
o 3 frr gg P A Wﬁ—m
"D B DY BT TS fa
TR
(A) 26 w=TaI, 2019 aﬁ
(B) 16 3T, 2017 B
(©) 16 feEw=R, 2019 1
" (D) 16 3%, 2018 FI
106-B % Page 3 of 16
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15.

16.

‘Ring of Fire is located at -
(A) Indian Ocean (B) Atlantic Ocean
(C) Pacific Ocean (D) Arctic Ocean

T 3l BrR Jaied & —
RT 316 ®rg

(A) = serR §  (B) et
3
(C) yor=1 sz ¥ (D) @fed  HEEIR
5

Match List-l with List-1l and select the
correct answer using the code given below -
List-1
. Khamsin
. Bora
Loo
. Harmattan
List-11
a. West Africa -
b. Egypt . i
& 3
d

N e

. Adriatic Sea
. Northern Plains of India
Code-
(A) 1-(b), 2-(c), 3-(d), 4-(a)
(B) 1-(d), 2-(c), 3-(b), 4-(a)’
(©) 1-(c), 2-(a), 3-(b), 4-(d)
(D)"1-(a), 2-(b), 3-(c), 4-(d)
-1 gE-F e srew qr ™
XY Y g o7 ST IR FE SR B 991
PHIRTT —
-1
1. @
2.977.
3.7 - ¢
4. &¥HeA
5 Gl |
a. UiEasEr apraT
b. 5= ’
c. gfgafesd wR
d. ST 9RA & #aH
EE_.
0 1-(0),2-(0), 3-(d). 4-(a)
(B) 1-(d), 2-(c), 3-(b), 4-(a)
(C) 1-(c), 2-(a), 3-(b), 4-(d)
(D) 1-(a), 2-(b), 3-(c), 4-(d)

17 The Vindhyan scarplands are part of -
(A) South Eastern Rajasthan Plateau
(B) Mahi Basin
(C) The Southern Aravalli Range
(D) The Northern Aravalli Range

fae] TR vt e & —

el <ferch i TR ToR BT

’\{B) 1ér AR @1

*10) Tfaro STl ggar &

\\(D) SaMECRERIE el
13:_BBamrasxa is a famous folk dance form of

Zwhich region?

T A Alwar—Bhératpur (B) Shekhawati

;}%C) Vagad (D) Mewar

?’Iaqvﬁm DI H &F BT ATH—Jd &7
’?lA) FAR—ARAR (B) Tramardt
>Ne) arrs (D) FaTs
19%]10 has composed the “Rao ]altSI Ro
Chhand”? -
<c§A) Beethu Suja
“;\(IC) Muhnot Nainsi

(B) Suryamal Misran
(D) Chand Bardai

2,
Salm) g e (B) pdwew faysyor
::(C)g'a'vhaf?vnfr (D) 7= q=3TE

20 Leading Lac producing state in India is -
+§A) Chhattisgarh (B) West Bengal
’\{C) Madhya Pradesh (D) Jharkhand
"')

ﬁmﬁwﬁmmmw%~
NA)UT‘?RFTCE (B) ufem T
"(C)t{wué‘zr (D) TTRwEvS

217, ‘Rindhrohi’ is composition by -
(A) Arjun Deo Charan (B) Paras Arora
(C) Malchand Tiwari (D) Chandra Prakash

Deval
R e e 82
Wagr——
(A) 7T aRT (B) URE 3RIST
(C) 7ree foamdy (D) TgyeTer qaer

Page 4 of 16
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22,

23.

24.

25.-

(©) =t

World famous “Old Faithful Geyser” i

located in-
(A) New Zealand (B) Iceland
(C) United States (D) Japan

"~ of America

faea ufig “aes wawe How
(A) =S & (B) arzaa
(C) ¥yt 3154wt (D) w4

3 i ?
‘Mand’ was the ancient name of - &.u

(A) Pratapgarh
(C) Karauli

(B) Jaisalmer
(D) Bundi

A YTHE ATH 9T —

(B—an?p Ea (B) e e &1
(C) BRrehr (D) F#1 =1

Which is the only continent through which
the Tropic of Cancer, the Equator and the
Tropic of Capricorn pass?

(A) Africa (B) Asia

(C) North America (D) Europe

BT T AT HETE & e o v ¥
X R R Y o 87T

(A) Smﬁ%‘l (B) Tz

(C) ST e (D) 7=1g

- As per the recently released UNESCO 2021

State of the Education Report, the access to
the internet in schools all over India is -

(A) 229% (B) 42%

(C) 29% (D) 19%

BT & H. 5 B E, vﬁwﬁzozl«‘

fyemerait g B Ug 2~
(A) 229 ©(B) 420
(©) 29% » (©) 19%

Brown Waterfalls are situated in -
(A) Switzerland (B) Peru
(C) Norway (D) New Zealand

A139 STl gurd del Rerd 87
(A) RaesReivs (B) U
(D) =ridive

e Hepiction; of hunting by women is 26.
characteristic of which painting style"?
(A) Kota Style (B) Jodhpur Style
(C) UniaraStyle . (p) Mewar Style' -
Q8
Rt TRAT &1 RIPR sy U Rt fre ﬁﬁai'\%
‘ﬁ?»ﬁ Gl ﬁrs‘mm P 8
(A) ﬁa ‘\ﬁ?’ﬁ (B) a\mg-\, bt o
(©) SfrarT e (D) a1z g 2’(_‘;
Which of the following (Place - Rebel | 27
1‘.eader) pair is not correctly matched? o
(A) Kanpur -Begum Hazrat Mahal %};
(B) Allahabad - Liaquat Alj g:\i
(C) Rohilkhand - Khan Bahadur Khan E\(‘)j
(D) Jhansi - Lakshmi Bai ‘ 52 28.
@Eﬁﬁ{@_‘ﬁ R P (R - BRI
(A) BHER — I &ORA FEe gg
(B) SoMETaTE — ot At N
(C) Mo — W TR @ P
(D) st — weshard o A
Pashupata Shaiva sect was propounded bg(z% 29
(A) Madhvacharya  (B) Shankarachary;{%
(C) Lakulisha (D)_ Ishan g‘l)
) ' O
TR T Y9 S b 6 -
(A) e ®) swER Y
(©) Trgferer (D) g
In whicﬁ event of Tokyd Paralyfnpics -
2021, Avani Lekhara won Gold Medal?
(A) Discus Throw (B) Javelin Throw . 30.
" (C) High Jump (D) Shooting
Sl WRIAERI-2021, 4, I o 7 frg
gt # <@l ues S
(A) Rwpa d (B) T B
(©) S a= © T
Page 5 of 16
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Bhushan Award' for the year

31. The bank of Mahi river is called - 33. ‘padma . it
(A) Chappan (B) Deval 2020-21 in the field of civil service 13
(C) Kanthal (D) Thali _ awarded to- .

(A) Trilochan Singh (B) Nripendra Misra
q&) = @1 R dEam € - () Krishnan Nair (D) Sumitra Mahajan
A ot : P < o
(c) Al (2) T af 2020-213 faw fm @ &3 # T
_(C) Fa (©) ot ¢ g . e fim o & — s

32. Match List-1 wit‘h List-11 and‘ select the ) B Rie &1 (B) g s @Y
Lorr'cctansworusmg the code given below - (€) T AR P (D) g wET 275*{/(
1. Talab-e-Shahi 34, Rao Rai Singh was called ‘Karna of

: A Rajputana’ by -
2: age : ¢
3 :\‘:al‘b e (A) Chintamani Bhatt (B) Munshi Devi
. Kadana Prasad
i s (C) Bithu Suja (D) Gangananda
List-1 (District) Maithil
i. Pali S
ii. Banswara @ akiE E\Tv X agm# @7 Hof frea BET?
iii. Dholpur (A) ﬁr.amfar T (B) =N q) gg
iv. Dungarpur aan (C) fag o1 (WEIECRIRG]
Code- &ﬁ 35. [ndia’s first manned ocean mission is
(A) 1-(i), 2-(ii), 3-(iii), 4-(iv) named as -
) . ) (A) Varunyan (B) Matsyayan
(B) 1-(iii), 2-(iv), 3-(ii), 4-(i) (C) Vishnuyan, (D) Samudrayan
C) 1-(ii), 2-(iii), 3-(i), 4-(iv
(C) 1-(ii), 2-(iii), 3-(i), 4-(iv) RA @ ForH A TR fyer @1 W
(D) 1-(iii); 2-(ii), 3-(iv), 4-(i) - —_—
a3 (A) THvraTd (B) wrerr T
-1 -1 e o feg (©) fawpar (D) AT
T e T START A Y Wel SR B AT - : - .
o . Which amongst the following is not an
T — ornament of the neck?
-1 (e /91e) (A) Mandaliya (B) Amla
1. ATEE-U—IMEl (C) Kanthala (D) Timaniya
o srnfafad # A S AnT 7 W e e
g 21~ BToT , 5 1 —
4, BHTaTd m', ”
F-11 (Rren) (A) wriaferm (B) aifae
i gt (C) pisan (D) foywform
ii, arearsT 37. "'1"1\0l ieacuck Throne” was made during
e which Mughal ruler’s reign?
. HTEAR
f'f ; Ly (A) Humayun (B) Jahangir
iv. §IRYR. (C) Akbar (D) Shah Jahan
iam._
(A) 1-(i), 2-(ii), 3-(ii), 4-(iv) s st e @ ARTETE A7
* (B) 1-(iii), 2-(iv). 3-(ii). 4-(iL. Rigre w fwvr fa aar @2
(©) 1-(ii), 2-(iii), 3-(i). 4-(iv) (A) gr] (8) wTEhfR
o (D) 1-(iii), 2-(ii), 3-(iv), 4-(i) (C) symay (D) wnewiE
. L aG
106-B % Page 60116
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39.

40.

41,

42,

38. Which one of the l'ollowing is the largest 43,
(Area-wise) agro-climatic ~ zone of
Rajasthan?

(A) 1-C (B) 1.
©) 11-A D) 1.8
ﬁ\f"’if@ﬂ‘@ﬂ 3 B g ipfmaamg Tue
(EAHATTIR) TR 3 AR qeT 27
(A) 1301 ' T®) g T
©) 11t (D) [1-§
Which ’l:()k Devta is worshipped as “God of
Camels” (Oonton ke Devta)?
(A) Pabuji (B) Tejaji _
(©) Devnarayaniji  (p) Ramdeviji
B A WD Qaa B e o Ta” B wU
QO S 82 '
(A) argsh (B) Tairoh
(€) T IRTY iy (D) Ish
As on December 2020, the installed power s
capacity of Rajasthan is - :
(A) 21148 MW (B) 19764 MW
(C) 20613 MW (D)21836 MW
TR _2020 a, IORAF A venfig faga
& § —
(A) 21148 MW (B) 19764 MW
(C) 20613 MW (D) 21836 MW
A cube of side 10 c¢m is coloured red with a 2
cm wide green strip along all the sides on all
the faces. The cube is cut into 125 smaller
cubes of equal sizes. How many cubes have
atleast one face coloured?
(A) 89. (B) 76 45,
(C) 98 (D) 102
Ff Fael o w1 el w2 A 9 w9
TeA & AT 10 AL W aTel TP T B A
T LA TA R T T B FA ADR B
125 B = ¥ PreT T B T F TH G
< g8 Gag g feae ua 8?
(A) 89 (B) 76
() 98 (D) 102
In a certain code language, “123" means “hot
filtered coffee”, “356” means “very hot day”
and “589” means “day and night”. Which digit
means “very”? ‘
(A) 9 (B) 6
©5 @3
T e e AW 4, “123” &1 H7Aelq “hot -
filtered coffee”, “356” @1 HAed “very hot
day” 3k “589” &7 Wl “day and night” ¥ |
B W o BT 3 "ve(g";s‘? Wb - 3
(A)9 -5
© & @3 O

106-B == Page 7 of 16

- (A) 216

Count the number of triangles in the figure
below:

(A) 17 (B) 16
© 15 (D) 13 _
faw v forr & et @ s frf
(NI T
’ 1 . l. |l
(A) 17 F (B) 16,
(C) 15 (D) 13

Here, some of the letters are missing which
are given in that order as one of the
alternatives below it. Choose the correct
alternatives -
W_YZWWX _ Yy _ZWW _ XXX _yy _Zz

(A) xxzwy?z (B) yyxwyz

(©) yyzwyx (D) xzxyww

fadey # o & fear mar 21 W Rreey @
g BRA — '

W YIWWX VY ZWW x5 vy 7z

SA) xxzwyz ) (B) yyxwyz 5.
(C) yyzwyx (D) xzxyww Wi

In the following figure, the number in place
of question mark sign will be -

(A) 216
©) 27

(D) 64

| g
1 o 3, e oo R @ <o vy OO
IS G )

(AT
KK

(B) 125
(D) 64

(C) 27

Rieqn SHER & g ad #% Exémnity.cor'n




Fe ©

46. ere, a statement is followed by four
conclusions numbered I, 11, 11l and IV. You
have to take the given statements to be true
even if they seéfil to be at variance from the
commonly knewn Read all the
conclusions at &"then decide which of the
given conclusigné logically follow from the
given statemeﬁ:xlé, disregarding commonly
known facts. €

Statements : Some Jokers are man. No

facts.

nis cycle.
Conclusions :?ﬁ No Joker is cycle.
‘ﬂ No man is Joker.
(11}) Some Jokers are cycles.

@/b Some men are Jokers.
(A) Only I and RTfollow ,
(B) Only 1V follows PR

(C) Only 1, 11and IV follow R
(D) All follow ¢©

AEfrd<gel 2| -
Premd : (1) FEN TR, AR T E |
- (1n) ) g, e TE § 1K

) ﬁm& TR, AEfbel €1 K
(V) 58 TRv, T s
(A) Baer 1 qTsH] SFTRRET B & | %
(B) Bael IV TR &Rl B |
(C) Faat I, 11721 IV 3RO &R € |
* (D) Y SFERYT B B |
47. Find out the wrong term in the following
number series -
325, 259, 202, 160, 127, 105, 94

48. |f in a certain code ]anguAage DAN = 357;

GON = 458, LOTS = 1248; LOAN = 1345;’
SCOTLAND = 12345678, then code of “C" s
equal to -

(A) 5 (B) 4

©7 © 6

" o P T AT A DAN = 357; SON = -
458, LOTS = 1248; LOAN = 1345; SCOTLAND
- 12345678, 7 “C" 1 HE TR %‘R 2
() 5% ®) 4
© 7% (D) 6 L

Study the following statement and answer

the question given below.

Some friends are sitting on a bench. A is
sitting next to B and C is sitting next to D. D
is not sitting with E. E is on the left end of the
bench and Cis on second position ffom right
side. A is on the right side of B and to the
right side of E. A and C are sitting together.

A is sitting between -
(A) Band C

(C) Eand D

(B) Cand D
(D) Band D

frfeRaa @wem @1 ufey Sk A feg g
T BT SR SR | .

%5 i 1w 99 W98 E| ABH TN A &
aﬁvc,n%w%lu}zémﬂ%’fﬁa%m
49 % a W & IR W 9T § SR Crll
R F TR WH W ¥91 8| A, BD TRl AR

(A) 202 (®) 127 2 9k B arft aiR 21 A R Cyw W
(C) 160 (D) 259 8 3 :
ﬁmm}vﬁfwwaﬁaﬁm— AdE ¥ JaT ® -
Sx W 722 )
AR) 202 - (B) 1271-”5 \1 S
: ® (C) E3iRD® (D) BIRD &
(©) 169. (D) 259 / 4 u'L



50. Following question

L ; : IS based on the 53. The pair of straight lines x? — 4xy + y* =
‘ll‘lul\"“;tll)n provided below - together with the linex + y + 46 =0 forma
% ans ‘Ais T2 °
n . ‘.nu ms ‘A 1‘.\ mother of B'. triangle which is -
(1IN °A- B'means ‘Ais brother of B'.
(I "A+ B means ‘A is sister of B, sl (B) right isosceles
(IV) ‘A + B means ‘A is father of . (€) right angled but(D) equilateral
How is Krelated toM in R = M - K? o not isosceles
(A) Son (B) K is aithor hrother CDI .
}\lh}l:hufhl:,;)thu ;g Qe it T %2 — dxy + y - 0 ¥
. or sister o \ b S
(C) Daughter (D) Nephew E\:’ x+y+ 4‘/-. 0 B Wy MR v l?lgil
N T E e
c N gqrd &, Vil & —
Pt o W Qe W amRa @ - of (A) fararg (B) Wit wHfgag —
(D ‘AX B’ &1 I A, B Y sy @ <= (C) zrwrepYur AAfdhet (D) {waTg
(I1) ‘A~ B' &7 ifvarar A, B w7 o 8 | W s “’Iaag’rﬁ 1
(1) ‘A + B' &1 ST A, B wet 2| Gh = herr=Dandanege= Lienahp =4
(IV) A+ B T PSR A, B R & 2 ki
‘ ig el X ©1 (©) Cannot be
R+M-K # KM A fry geR g 27 S\; ' determined
AgE (B) K, M & a8 arar ¢ ‘
‘)Ib e R i Sh Hﬁb+%=la‘§ma+—l—=lﬁ,a\labc=?
S 5 o
© g e (©) o & Wz e 24
3 Y © -1 (D) s 71 IR wFA
51. The number of terms in the expansion of (‘3; 55. A metal sphere of 8 cm radius is melted and
[(x = 3y)%(x + 3y)?]° is- (L:_:i small balls of radius 0.5 cm are being made
(A) 6 : (B) 8 v ON .~ from it. The number of small balls are -
e
© 14 (D) 7 i 8 w3375 (B) 2744
] ] Al " (C) 4096 (D) 1728
[(x—3y)2(x+3y)? P o R # wal &
=T B . ((*53 Bﬁﬁ’rﬁ—maﬁwﬂv@a%?ﬂéfﬁ‘fﬁw
(A 6 () 8 < o @ ol SEd O 05 A fear @
oD
() 14 (D) 7 Pais) ﬁ%mmﬁmﬁ%‘.ﬁ*ﬁmaﬁm%—
52. On throwing two dice, the probability that S‘j (A) 3375 (B) 2744
sum of the numbers on the faces is 7 or 11, gg (C) 4096 (D) 1728
is - ~f= 56. The number of ways of arrangements of 10
(A) 7 - (B) 1_18 persons in four chairs is -
- = 0 2 ‘ (A) 4050 (B) 5040
6 9 : (C) 5020 (D) 6000
@_ﬁmma’mﬁ%mmm7mn 10 @il @1 4 BRI ® fa TOR ¥
M Y wifar § — b © oraRerd (e ST W 87
@z @1 gt G o] 2 ™00 (B) 5040
oz ST ©@s0 (D) 6000
z & |
2.7 He€ o o
5 sy G
’2 Eetfonts 7 Page 9 of 16
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57.

58.

59.

If a regular hexagon énd an equilateral
triangle has equal perimeter, thén thé ratio
of areas of regular hexagon and equilateral
triangle is -
(A) 2:3
€ 8:5

(B) 3:2
(D) 5:4

e vh v iR v wwarg B &
WREY G 2, Y e ol W A
@ Al BT ST & — p
L) 2:3 (B) 3:2
(© 8:5 © 54
The difference of 65% and 3~5% of the same
number is 22.20, then 50% of that number
is-
(A) 65
(C) 74

(B) 37 \((.f
@325 5 Ao

erxd
— LA
el dear & 65% vd S¥ Wl & 35%_'

BT A 22.20 B, AT S AT BT 50% &

(A) 65 (® 37 '

©) 74 up) 32.5

The Harmonic Mean (H.M.) of the roots of
‘the equation (5+VZ)x2— (4+V5)x+

(8+2V5) =0 is-
(A) 4 (B) 2
©) 6 (D) 8

THET (5 +V2)x2 — (4 +V5)x +
(8+2V5) =0 3 el &7 EHS A -
(B) 2 ;
(D) 8

(A) 4 -
©) 6

61.

62.

A bag contains coins of T 1, 50 paise and 25
paise in the ratio of 2:3:5. If the total value of
these coins is ¥ 228, then the number of 50
paise coins in that bag is- 3 g

(A) 48 ‘ (8)240),'}/
(C) 144 @96 T 9
o da # 1%, 50 99 ok 25 9y @ faas

235a%sr§vra#§|uﬁs=rﬁwmmav‘a
szs?%’aﬁws}ﬁﬁsowzﬁﬁmﬂﬁ

) e - S e
(A) 48 ¢ (B) 240
(C) 144 (D) 96,(

—

Who among the following was not an

incumbent of the Chairman of State Women

Commission?
(A) Lad Kumari Jain (B) Tara Bhandari

(C) Kanta Kathuria (D) Girija Vyas

RISy AR TET @ e 7% R BN SR
Tl E1? .

(R) T8 FART Wi (B)HRTW?,T?I"*/F
(C)?rz‘imajqﬁml,, (D) friT @y

Who is the head of the District Disaster
Management Authority?

(A) Superintendent ofﬁolice

(B) Commissioner Municipal Corporation
(C) District Collector .

(D) CEO (Zila Parishad)

7t simaaT e gTRYeRYT 7 sreer B e

&? '
. (A) g aefers B

(B) g TR e :

(C) e Zﬁé?rei

(D) gt (Rrem aRwe)

Page 10 of 16
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64.

" 63. How many seats are reserved for Scheduled

Tribes in Rajasthan Legislatiye Assembly?

(A) 33 (B) 28

(C) 22 (D) 24

o AU fom ug Sﬁﬂﬁ—ﬂ
Gﬁfﬁﬁﬁ'%g RTErE &7 4£

€ 22 (D) 24

Match list - 1 with list - I and identify the

correct answer from the code given below -
List-1 9.0

(a) Mont-Ford Report

(b) Motilal Nehru Report

O] J.V.P. Committee )

(d) Morley - Minto Reform
List - 11

- (i) 1928

(i) 1919
(iii) 1948 t

(iv) 1909

Code -

(A) a-(ii), b-(i), c-(iii), d-(iv)

(B) a-(iv), b-(iii), c-(ii), d-(i)

(C) a-(iv), b-(i), c-(iii), d-(ii)

(D) a-(iv), b-(iii), c-(i), d-(ii)

-1 B -1 E et @1 Bk A R
Y THe =¥ W | IR B il T P —

o =1
(a) Aic—w1E RA

« (b) Ardfterrer FE% RU

(c) 1A, affa

» (d) sl G

-1
() 1928
(i) 1919
(iii) 1948
\ (iv) 1909

T(A) a-(ii), b-(i), c-(ii), d- -(iv)
(B) a-(iv), b-(iii), c-(ii), d-(1)

e (€) a-(iv), b-(i), c-(iii), d-(ii)
(D) a-(iv), b-(iii), ¢-(1), d-(i)

6-B <

65.

66.

67.

68.

Page 11 of 16

f?r&aT AR & fr g9 &¢ Examnity.com

(€) 40 -

(A) 234 March -

Provision of appointment of State
vernors by the centre, has been taken
from -

(A) Switzerland (B) Ireland

(C) United States of (D) Canada
America

W?Wﬁ%ﬁam@ﬂ?’

wraeT @1 ferar @

(A) RacoRelve |

(C) igat X121 3rRe (D) BefrsT
—‘ﬁ - .

How many members are there in District

(B) mmj_a’_vs kil

Planning Committee in Rajasthan?

(A) 30 (B) 25

(C) 40 (D) 35

Rroreers H foren s _wfdfe | farery

et R

(4) 30 ® 25

(@35

Rajasthan Foundation Day is celebrated on -
(B) 315t March

(C) 30th March (D) 03rd March

Wwﬁwmm%—

(A) 23 71 (B) 31 \rd

C D

(©) 30 7 .(,) 03 9

Under which article of the Indian

Consti_tﬁtiori the Chief Minister is appointed
in Rajaéthan?
(A) Article 60
(C) Article 270.

* (B) Article 164
(D) Article 350

AT # g @ P e @?
(W) age 60 (B) e 164
© o 270 (D) arpad 350




69.

70.

71.

72.

Which of the

statement?

(A) 1t shall be the duty of the Advocate
General to give advice 'to the
Government of the state on legal
matters.

(B) Remuneration of the Advocate General
is determined by the Governor.

(C) Advocate General for the state is
appointed by Chief Justice of High Court.

(D) The Advocate General shall hold office
during the pleasure of the Governor.

1 3 | BF A1 Y e @2

(A) weTfegaaT &1 I8 wxia ge f a8 e
WER B! s N AWl 3§ waE 7 U

(B) wetiyadan &1 wiRsif® U g
FeiRa far smar §7 0

(©) g & werhEEn & fryfad sea <mre
B T IR BN A o | e

(D) gﬁa@ ARSI SIELU YREROT

| :

following is incorrect

When did Ajmer become a Sixth Division of
Rajasthan? .

(A) 1977 (B) 1991

(C) 1987 (D) 1982 -

ISR ISR BT YT T F9 G417

(A) 1977 (B) 1991

(C) 1987 (D) 1982

Who built the world’s first electronic
calculator using telephone relays,
bulbs and batteries?

(A) George Stibits (B) Claude Shannon
(C) Konard Zuse (D) Howard H. Aliken

IR GY R FT e GeRiie deaeer

fora gamar?
(A) Sitst Refaea (B) Faife MM
(C) ®ITE A (D) gfas Ta. uferde

In MS PowerPoint, key used to run the Slide .

Show from the beginning is -

(A) F5 (B) F11

(C) F7 (D) Shift + F5

THUE. UR dige d wgs W Pl Yo
Te B oY Ugad A WM arell fol & —
(A) F5 (B) F11

(©) F7 (D) Shift + F5

1062203426

light

1062203426

10&:‘;;72203426 1062203426

(A) DDR **

. Which of the following internet service is

appropriate to access the computer of your
office from home?
(A) WWW

(C) FTP

(B) IRC
(D) Telnet

e H W B W g Jan, s Ay

B PR T AN g @) w D
fore, Sugaa 22

(A) SRSy, (B) g IR,
(C) TH A, (D) e

Which of the following statement is false?

(A) Bar-codes are printed using special ink
containing iron oxide.

(B) A - bar-code reader uses
scanning technology.

(C) On goods, postal packages, books etc. we
.use bar-code for unique identification.
(D) Bar-codes  represents data using

combination of vertical lines.

o # 4 B A1 P o 27

(A) IR e Ta 99 W & T d oI
S €, Rt amora sffeargs g § 1e—

(B) T IR 18 VSR ThoR—4M WHHAT dhiiep
BT TN Rl B | —

©) 9mmE, s, fhad sk w o'w
CFRA B

(D)awma’é’rmaﬁ$ﬂaﬁaqﬁmtﬁ\
frefia T 21 L

Which of the following is used in main

memory?

(A) DDR

(C) SRAM

laser-beam

(B) DRAM  poqea
(D) PRAM . '-ﬂh
gwwmﬁwg@fmﬁmﬁm
(B) DRAM

(C) SRAM (D) PRAM S

- Interpreter is used as a translator for -

(A) COBOL (B) High level language
(©) C++ () Low level language

- o for seiieR giveey @ aRe Wi
S 82 '
(R) COBOL  (B) &7 araet ¥t
(©) C++ (D) & e ofvawt

106-B % f=ieqT HTER & folq ®@®¥ Examnity.com



7.

78.

Consider the following ordered sequence of
actions in MS Exce] -

(a) Select cell range A1: E10

(b) Press 100 on keyboard

() Press ‘Ctrl + Enter’ ;

Choose the true statement, after above

actions - ’

(A) 100 is entered in cell A1 onl3;.

(B) 100, 101, 102
the range.

(C) 100 is entered in cell A1 and cell E10.

»..150 entered in cells of

(D) 100 is entered in each cell of the range.

T, I § e it @ g 51@?4’1
T Rar w - =y
(a) Ul ¥S-AL: E10 T w2 %
- (b) ®—arE W 100 aTg
(c) ‘Ctrl + EnteT—E—Eﬂt{
Iq fhael & SR WS BU @i RG]
BN —
(A) 100 el ¥el A1 ¥ wfie gam|
®) X1 2 deft § 100 101, 102 ...... 150 uf=
73| e
L4€) 100, 9 A1 T I E10 ¥ Ul garm |
(D) 31 @1 7AF [ H 100 ufaw garm|
In context of MS Word - 2019, consider
following statements -
I: By pressing Ctrl + N, you can create a
new document.
11 : The template provides the formats that
give a document its appearance.

Which of the above statement is/are true?
(A) Only I (B) Only II
(C) BothIand Il (D) Neither I nor II

TaTE, -2019 B W #, T Ferl w

faar &Y |

I: Ctr1+NmeW€W®EW
wha el

n: émazamﬁaéﬁ#%‘ S U Sfagie B
THF] T YeT Bl B |

IR HAAT § A B W/BA A A

. R /E?

(A) Bad |

C) | @ 1l g

(B) Baet Il
. DA RAT AN

ERaYslolalate W Eatn

ENaYalatstatoW Lalal
[RUCFAAVE FAY)

L NatalaleTats W Ealal
[JUiSFFAVIVL FAS) [RVISF AV FAV]

ANQDIDIND AL

TUULZZUIHZU

79.

80.

. Consider Column - 1 and Column - 2 in

context of computer generations -
Column - 1

(1) Transistors

(2) VLSI

(3) Machine language

(4) PARAM
Column - 2

(a) Fourth generation

(bj Fifth generation

(c) Second generation

(d) First generation

Match of column - 1 and column - 2 is -

(A) 1-(d); 2-(b), 3-(c), 4-(a)

(B) 1-(b), 2-(d), 3-(a), 4-(c)

(€) 1-(c), 2-(d), 3-(b), 4-(a)

(D) 1-(c), 2-(a), 3-(d), 4-(b)

‘wm{ava%mz%vaﬁﬁwm?—_lw

WH - 2 R faar &Y —
-1
+(1) giforReR
(2) NTATHIE. -
(3) 7T vt
(@) TE
-2
(a) =il O
(b) wrerdy Gt
(c) gEd 0
(d) Tse Wi
T - 1 TAT W - 2T G & —
(A) 1-(d), 2-(b), 3-(c), 4-(a)
(B) 1-(b), 2-(d), 3-(a), 4-(c)
+(C) 1-(¢), 2-(d), 3-(b), 4-(a)
+ (D) 1-(q), 2-(a), 3-(d), 4-(b) »
IEEE - 1394 is - '

(A) Parallel Port
(C) USB Port

(B) Serial Port
(D) Fire Wire

IEEE - 1394 % —
() Rere o

_ (B) ¥ifeer 4
©) grad. o

(D) BTIIR TRIR

i1 TATIR %[ §7 &% Examnity.com




81.

82.

83.

‘g

85.

choose the correct option.-
There is no charge to make against him.
e
(Change into Passive Voice)
23INE V0
(A) There was no charge to be made against
him:

(B) There is no charge made against to him.

¢ (©) There is no chmge to be made against

him.

(D) There is no charge to have made against
him. e

Choose the correct meaning of the idiom -
‘Feeling under the weather’ means=
(A) bad weather ~ ~ (B) refreshed"

(C) rejuvenate (D) to feel ill

Choose the correct option :

‘Do you know when she will go home?’ I said.

to him. (Change into indirect speech)
il

(A) I asked him that did he know when she
would go home

(B) I asked him if he know when she would
go home.

(©) 1 asked him if he knew when she will go
* home.

(D) 1 asked him if he knew when she would_

. go home.

Flll in the blank with the most appropriate

phrasal verb -

Raja Ram Mohan Roy urged

L {7 T T (do) untouchability. _

(A) do away with (B) do without
{e) do upon (D) do at

Match the idioms in Column (A) with their

meanings listed in Column (B) -

Column - (A) Idioms
(a) Ared-letter day
(b) Tosmellarat
(c) To leave no stone unturned
(d) To turn over a new leaf

umn - a

(i) tosuspectsomething wrong
(ii) to make every possible effort

Indians

_pf) to make a fresh start

(iv) A special/noteworthy/memorable
occasion i

(A) a-(iii), b-(iv), c-(i), d-(ii)

(B) a-(iv), b-(i), c-(ii), d-(iii)

(C) a-(ii), b-(iii), c-(i), d-(iv)

(D) a-(ii), b-(iii), c-(iv), d-(i)

Change the voice of the following and

86.

87.

88.

" 89.

90.

Fill in the blank space in the sentence
choosing the right alternative from the given

options -~ "
“«A kangaroo can jump......... arabbit.

(A) higher to (B) higher than
(C) highest to

Fill in the blank spaces in the given sentence
selecting appropriate set of words from the

(D) highest than

‘following options -

sentence: Contrary to popular ... that
money is power, I ... that knowledge is
power.

(A) belief, believe  (B) believe, belief
(C) believes, beliefs (D) beliefs, believes
Match the words listed in Column (A) with
their synonyms in Column (B) -

olu /
(a) Access
(b) Retrieve
(c) Ameliorate _‘_".-‘5;}

ord

*'(d) Alter

Column - 'B' onyms

(i) Improve

(ii) Change

(iii) Approach

(iv) Restore.

(A) a-(iv), b-(iii), c-(ii), d-(i)

(B) a-(ii), b-(i), c-(iv), d-(iii)

(©) a-(ii), b-(iii), c-(iv),d-(i)

(D) a-(iii), b-(iv), c-(i), d-(ii)

Complete the sentence selecting the correct
preposition from the given options -

“A new bridge is being built ...... the river
Niger.” .
(A) during (B) on

(©at . (D) in

“The lion is a fierce wild animal.”

In this sentence (the underlined words) ‘The .
lion’ stands for -

(A) the whole class of lions
(B) asingle lion

(© alion formally discussed
(D) a particular lion

{06 [XIel GHTER & fol §9 9%, Examnity.com



93.

94.

95.

9.

+ e R e ey g 0
(R) SIRTAT, woTE7g; (B) refl. AR X
(C) T, S (0) i, s

b R R R e
@ifoe — '
)Y+ SR = e

(B) A1 + SUBR = WrqueR -
(©) g + T = qfgewy
(D)mj+31ﬁ IR

ﬁwﬁ@fﬁvﬁma‘wmwm
AR B FAERT §?

(A) Belre, A (B) g, gowm K

(D) Ige, e %
SR R 1 T BT —
R

(C) wTe, vraTd)

(A) FfeT & FET WERA e
(B)memm—w
(C)Wmfﬁrﬁm%—m

(D) st @ FET e e — @i

e & fra oo @ ol 7 g 87
. /
(A) FiRke, wmafdfa, smeard s

(B) wraed), TS, HEA

(C) wrefrger, wraf, FedTl
(D) Tifey, A, ﬂﬁm "ﬁ(ﬁ"’ﬂ

Ry e % Rt g & —
A f — T (B) #Hifers — argfea

(©) s — o (0) g — f

97.

98.

forer fagreg 3 il e weR wgfaard § -
(A) VfR, R, T, PWHR
(B)wm?ﬁﬁ yf, AR
(C)mgg féme JAE®, TaTE
(D)WWWW
Prfofm -1 & qereRt B -l 3
g et B Wy e e —
-l :
(i) RIR W 3@ @R &F
(ii) ST H IeE
(iif) TeTR_PL el & S
(iv) aTS: BT el '
sl
(@) famr weferd <@l <A
(@) fo<i & ®M™ 7 o aren
() & @ S
(@) @7 fee

- ) ()- (). (iD)- (=), (iiD)- (F). (iv)- (U)

o

99.

- 100.

®) (- (). (i)- (). (ii)- (). (iv)- ()
© (i)- (M), (iD)- (), (iii)- (@), (iv)- (=)
() @)- (7, (iD)- (). (ii)- (0. (iv)- - (=) )

Wﬁﬁﬁam&zﬁfﬁmﬁﬁaﬁq—wﬁm
w%? '
(A)ﬁ—ﬁwna oo, ﬁ'\?ﬂ

(B) 3 — areifira, sifrep, smafaa
©) g — gy, wftare, wwma
(-D)%I,—.W' WW Y
SUERAIRSCECINCER I o R B B
e ‘

(A) FHa, TR Jad

(®) werde, v <

(©) Ty, e

(D) yah, wap v faeny

{}

i,
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